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g,=(4r)'c? %1077
=8.854187817---x10™ [F/m|

Uy =4mrx107 =1.2566370614---x10° [H/m)]

Mo =\l | €, =376.7=1207 [Q]

c=1/Juye, = 2.99792458%10° [m/ ]
e=1.602176462x10" [C]

m, =9.10938188x10™*  [kg]

m, =1.67262158x10"  [kg]

h=6.62606876x10* [J -]

h = h/(27) =1.054571596x10°* [J -]

k =1.3806503x10 =10° /(367) [J/K]
N, = 6.02214199x10%

G=6.673x10"" [N-m*-kg~?]
6378.140 [kmi

Mg =1.9891x10%* [kg]

M /M. =332946.0
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A.22 000000000

g g g g g g

770nm 640nm 590nm 550nm 490nm 430nm 380nm o

A23 000000000
000000000000 0000 IEEE(http:/standards.ieee.org)d IEEE Standard 521-1984 0 0 0 0O

Band Frequency
L 1-2GHz

S 2-4GHz

C 4-8GHz

X 8-12GHz
Ku 12-18GHz
K 18-27GHz
Ka 27-40GHz
A% 40-75GHz
W 75-110GHz
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A3 0000
0oQ ooo
0g 0oQ 0oQg 00 0oQg 0oog

m 00 103 k 00 10°
u 0000 10°° M oo 10°
n 00 10°° G 00 10°
p 00 107 T 0o 10%
f o0og 107 P 00 10"
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A4 000000
[0 O] Ansoft HFSS Ver.8
oo

ubbogobuoobbooboobobod
000000000000

goo ubdbe 0000 4, Job o
(x107) (S/m)
gooooo 1 1.000021 3.80
RN 1 1 1.50
RN 1 1 1.00
0 1 0.999991 5.80
gooo 1 250 1.00
aono 1 1 0.76
O 1 0.99996 410
gooooo 1 1 0.007
U 1 4000 1.03
0 1 0.999983 0.50
gooo 1 600 1.45
g 1 1 0.93
0 1 0.99998 6.10
aono 1 1 0.70
goood 1 1 0.11
gdd 1 1.00018 0.21
gooooo 1 1 1.82
RN 1 1 1.67
gooog 1 1.00082 0.93
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(S/m)
00 1 1 0
00 1.0006 1 0
oooo 2.2 1 0
OoDood 16.5 1 1.00x107"
OoDoDO0Omoog 5.7 1 0
Oooood 12.9 1 0
Oooo 55 1 1.00x107*
oooood 3 1 1.00x107"
ooooo 10 1 0
oooo 11.9 1 0
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As.1 0000
sin(a = B) =sinacosfB +cosasin
cos(a + ) =cosaxcosfFsinasin 5

A.5.2 0000
0000

sinacosb = %{s n(a+b)+sin(a-b)}
cosasinb=%{si n(a+b)—sin(a—b)}
cosacosh = %{cos(a+ b) + cos(a—b)}

sinasinb= —%{cos(a+ b) — cos(a—b)}

0-000

sina+sinb:23in(a+bjco{a_b

sina—sinb= 2co{a2bjsm(a_bj
cosa-+ cosb = 2(:0'5(%2L bjcos(a; bj

cosa—cosh=-2s n(a;bjsin[a_bj

N

AS3 O0O0OOOoOon
asinfd+bcos@ =rsin(@+ )
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A6 DOOOOoOoOoOn

A.6.1 OO
1) Flo)=71Tm1=] fe“d (Cooooo)
©) f(t)=.7 "[F(w)] :%ﬁ F(w)e'“dw (CooDoooo)

00000000000000000000000000000000MO00m f()o
F'(w)/(27)0D F(w)D f () 0@QO000*00000)000000000000000
00000000000000000000 f(t)- F(o)/(27r)000000000000
0000000000000000

A.6.2 00O
3) Flaf(@t)+bg(t)=aF(w)+bG(w) (Ooo;0000)
@  Tlft-7)]=¢e'"" F(w) (Oooo)
6G) T f)]=F(o-w,) (oo 00)
®  7f(t/9)]=|dF(sw) (0COD; 0o00OooO)
©) f[% f(1)]= joF (@) @o)
®) .?‘[Itf (2)de] =~ (@) @o)
jw
(9) 7 U a)n]= E%[J‘f:—m f(#)g(t-7)d7] (00005 convolution)
= F(0)G(w)
10 FIFOg)] =%F(a))* G(w) @ooo)

1y f@t):o0o0Tooooo
O] =F(0) =27 Y c,0(@-na,) ©ooo)

N=—co

ooboboc 000000000

f(t)= icn exp(jnay,t), c, :%L f (t) exp(— jnay,t)dt (w, =%)

N=—oo

12) rﬁafmzéLrFWﬂ%w (DooooooDo)
» yu I

(13) 0O ft) 000 - F@=F (~w)0O (CooDooo)
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f(t) F(w)
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001000000 ( | _ZI) m:snc(wﬂa
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A7 dOoooon

(1) A-B =|A|B|cos8

2  AxB=10/A|B|sing

ooooooooo)
A-(BxC)=B-(CxA)=C-(AxB)
Ax(BxC)=(A-C)B-(A-B)C

(3)
(4)

G G,=AlA| (ADDOO0O0O0O000)
20 ~0 0

6) V=K—ty—t7—

(6) an+yay+zaz

(m V- (VxA)=0

®  Vx(VWV)=0
@ V-(VA)=W-A+A.-VV

(100 V-(AxB)=B-VxA-A-VxB
(11) Vx(AxB)=AV-B-BV-A+(B-V)A-(A-V)B
%)
oooo (B-V)A=B L Ay+aAZ = Bxi+B 9,
oX o9y oz ox Yoy
(120 Vx(VA)=VVXA+VVxA
(13  V(UV)=UVV +WwWU
(149 V(A-B)=(A-V)B+(B-V)A+Ax(VxB)+Bx(VxA)
V- (VWV)=V¥
0V 0V oWV
= + +
x>  oy* oz’
(15) 10( V) 10V 0%V
= o P T e 2 T2
pop\ dp) p dp° oz
18(28Vj 1 a(. avj 1 0%V
=——|r"—|+ ——|SNf— |+ -
r2or or) r?sin@ade@ o ) r?sind a¢’
16) V?A=-Vx(VxA)+V(V-A) (@ooooooooon)

00000000000: VZA=RVZA +§VZA +2VZA

A
(6: ADBOOOO) de B

(Ug: ADDBOOODDODOOODODDOO

AxB B

[

B, iJA
0z

@Cooooo)
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SV 1V v
op p o 0z

.0V ~10V . 1 oV
f +p————
or r 06 rsiné do

V-A:aA‘+a'AV+aAZ

oX 9y 0z
0
:ii(pAp)-i-iﬁ-l-ai
P op p op 0z
190/, 1 9 . 1 OA,
= —— R 9 -
r?or (r A)Jrrsiné?ae(sm A9)+rsim9 g
5y 2
VxA=d/ox dldy dlad
A A A
L p PP 2
==P/dp 3ldp 31d
A, PA A
r r rsinép
- 1o 2100 aldg as
TN A vA, rsinem,
[[VxA-ds=¢A.d ooooooo) C
S C
dl
[[.AxVV ds=¢vd
S C
s
[[[v-Adv =ffA-ds (Ooooooon) S
”LV x AdV = ﬁsﬁ x AdS (3-D Stokes)

[[[vvav = ﬁsvds
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(25) Green 0 OO
Green OO QO QOO

f.1 g—?‘dS:”L{fvngVf)-(Vg)}dV

Green 00O 0O0OO
j’:}s(f%-g%}d&m{fvzg—gvzf}w

O0O0On0O SOODODOOCOOOOOOSOOOOOOODODOCODOO
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F=F +F,

FOFOO0O00000AODODDOOOOGOOOOOOOOODODOOO

{Fr:VxA QooO0ooooooon)

F,=V¢ (@O0OO0O0O0D0ODO)
V.-a=0000000000000000000000000000000D0O0O00O000OO0
0000000000D00000000000D00000000Vxa=00000000
O0o00o0ooooooooooooboooooooooooooooooooooon
ooooood

FrD FpDDDDDDDDD
{V-Fr:V(VxA):O

VxF,=Vx(Vg)=0

V-F=V.F,
VxF=VxF,
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albO0OO0a-b=lapjcosd0 al b’000a-b"=[gb’jcoss’ 00000000000
a-b=[dbjcos¢0 D0 D0 bjcosf0 b a0 D00D0000000000000
Dooooooob ooo0op|oooooooona-b=[blcosé=ldbjo0nDan a
00000S§00000000000b"0000 a-b’=[b’coss" 00000
b”|cos¢” =|p|0 00 Da-b”=[g|b’|coss” =|db|oO DO Da-b=a-b"000000 A7.2
00000000000

A.8.1 0000 (xy,2) -« 0000 (p,9,2)

gooon

X = pCcoSep

(0,0,2) = (X, Y,2): y=psing
=7

p=X+y’
(x,¥,2) = (p,0,2): p=tan(y/x) (0DOOOODOOOO)
=27
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X- p=Cosg y-p=sing
X-¢=-sing Y- @ =cosg
X-2=0 y-2=0

N> NN
N> ‘S) b)

0
0
=1
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00000000 (xy,22000000 (p,e,2)0000000000000AD0O0OO

DO00A=XA+VA +ZA,000000000000000000000

A=p(p-A)+@(@-A)+2(2-A)
= plp- (3A + 9A, +2A.)]
+ 910 3A + 9A, +2A,)}
+2{z- (%A +9A, +2A,)]

= pl(3- DA+ (B DA, + (5 DA}
+ 9l VA @G- DA +(@ DA)}
+2{(2- A+ (2 DA, +(2 2)A)]

0000000000000000000000000000000

ubboobuoobbooboboobbooobooboo

A=RE-A)+9(5-A)+ 22 A)

= (% p)A, +(X-P)A, +(2-2A,)}
+5{5- DA, +(5- DA, + (- 2)A)}

+2{(2- p)A, +(2-

DA, +(2-2)A)}
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gogonog

X=rsn@cosy
(r,0,9) > (X,y,2): y=rsindsing
z=rcosé

r=yxX+y’+2°
(x,¥,2) = (r,0,0): 0 =cos(z/ x> +y*+7°)

p=tan(y/x) (0ODODOOOOOOOO)

oooooon
X-f =sin@cose y-f=sin@sing 2-f =cos@
-6 = cos@ cosy -6 =cosfsing 7.0=-sn@
X-@=-sing Y- @ = cosg z2-¢9=0

ugbbogobuoobbooboabo

A8 3 000000000000 OOo0onooOoOgn
for VV
VV:)’Za_V+9a_V+Za_V

oX dy 0z

good

x>

= pCOSQ—@Sing
sing+ @cose

N> <>
N xS,

p=X+y’
@ =tan(y/x)
Z=7Z

000000 (chain rule)0 000 (X,y,200000000 (p,@,2)0000000
0000
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N _Nap W ap oz
OX dp X Jd@ OX 0JZ dX

S S A L YV gV
2x2+y? Jop \1+(y/x)?® x* Jdp oz
(x}av (— yjaV
p)op \p°)op

N _Nap Vg oz
dy dp dy J@ady 0z ay

= L 8_V+ ;l 8_V+08_V
2/x2+y? Jop \1+(y/x)?® x)dp 9z

[yjav (xjav
= = [—+ — ==
p)op \p*)op

. dV cosp oV
dp  p dg
Vv _wv
dz 0z
VV:Aa_V Aa_V+,\a_V
oX dy 0z
. g oV sing oV L n . dV cospdV ) .dV
=(pcosp—@psing)| cosp— ———— |+ (pSiN@+@cosy)| SNYp—+——— |+ Z—
dp p Jp dp p Jo 0z
= (ﬁcosq))(COS(pa—V—sm—(pa—Vj + (ﬁsin(p)(sin¢a—v+wa—vj
dp p 99 dp  p g
+(—psin (p)(cosqpa—v _3ng (pa—VJ + (gbcos¢)£si n gpa—v + 050 a—vj
dp p 99 dgp p 99
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